
Models K AICc ∆ AICc wi 

Initial height + Origin + Elev +  Temp + Water + Origin*Elev + (1|Plot)  8 289 0.00 0.37 

Initial height + Origin + Elev +  Temp + Water + (1|Plot) 7 290 1.03 0.22 

Initial height + Origin + Elev + Temp + Water + Elev*Origin + Water*Origin + (1|Plot) 9 290 1.29 0.19 

Initial height + Origin + Elev +  Temp + (1|Plot) 6 291 2.41 0.11 

a Initial height + Origin + Elev + Temp + Water + Elev*Origin + Temp*Origin +  Water*Origin + (1|Plot) 10 292 3.42 0.07 

Initial height + Temp + Origin + (1|Plot) 5 293 4.28 0.04 

(1|Plot) 2 308 19.94 0.00 

 


